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1. A 2. C 3. B 4. A 5. C 6. A 7. B 8. C 9. B 10. A

11. D 12. C 13. B 14. C 15. B 16. D 17. A 18. D 19. C 20. A

21. C 22. B 23. C 24. D 25. B 26. C 27. D 28. B 29. C 30. D

31. B 32. C 33. B 34. C 35. B 36. D 37. B 38. A 39. C 40. A

41. B 42. C 43. B 44. D 45. A 46. B 47. C 48. B 49. D 50. C

01. Option (B) is the correct answer. Option (D) ‘loan’ is a homphone for ‘lone’ and not
a homonym.

29. Option (C) is the correct answer. Errors/corrections appear in brackets : He travelled
in (on) a navel (naval) ship that drowned (sank) in a straight (strait).
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